Answer Key for

MINERvA
Main INjector ExpeRiment for v-A
1.  What does the MINERvA detector measure?



It measures low energy neutrino interactions (interactions of protons, muons and 


pions in particular)

2.  What shape are each of the planes in MINERvA?



Each plane is in the shape of a hexagon.
3.  What is a scintillator strip?



Materials that take the energy from an interacting particle and turn it into light.
4.  What is the shape of a scintillator strip?


Triangular shaped and come in long strips.

5.  How many specialized areas are in MINERvA?



There are three areas.  The fully active target, the ECAL and the HCAL.

6.  Name 3 types of material in MINERvA.



Currently the detector has specialized areas made out of  hydrocarbon, carbon, iron 

and lead.  There are plans to add helium and water targets in the near future.

7.  What is a wavelength shifting fiber?



It takes the light and collects it and sends it to the PMT’s.  (It also shifts the 



wavelength of the light to better collect it.)

8.  What does a PMT do?



The signal from the detector will be a very weak signal.  The computers are not 


able to read neither the minute strength of the signal nor do they recognize the 


photons that they are receiving from the detector.  The PMT takes the photons and 


amplifies the signal.  It also transfers the signal into a form of energy which is 


more easily understood by the computers.
